16 OOODODDOODOOO

161 000 (char)DO0O0000O

CUO0OD0D0000O00U0OD0UD char 0 00000000 Ochar 0000 (lbyteO0O)1 00000

ooooo
goddooodoooooooonoooodan
a = ’A’;

O0000000000000O0printf() O scanf() 00000000 %c 00000

0000000000000 DO00D00DO0D0O0DO0D0000D000000D00DO0DO0D00O01byted OO
O0000000 ASCIIO0D0O00D0O00OODchar D0 0O0OO0OODO 8bitDODOOODOODOONORS bit

00000000 (000)00ooooooooo

0000000 (ASCII code) OO0

>Uuooobbbbbbbdbchar g ad

oooopooobobbbD 200000
uogooobooan

goooooboooooooboog °x? 0
Ubd xbogoooboboooogon
OOchar OO0 1byteDOOODOOODO
odn

sizeof 0000 (D0ODDOO) char O

o 1 2 3 4 5 6 7 8 9 a b ¢
2|00 o g g e oge a0 (0 o) ke 0
31000 10 020 030 040 0B 0@ T g QY v g0 g
4|°e ~°a> B> °C’ °D> °E’ °F’ °G’ °’H> I’ ’J’ ‘K> L’
5| P Q> R’ S’ TP CUT OV W X Y 0zr o[ o\
6| a’ b’ ¢’ ’d’ e’ f’ g’ h’ i’ i’ k) D
7 ’p’ ’q’ ‘’r’ ’s’ ’t? ‘u’ ' ‘w? ’x? ,y’ ’z? ’{’ ’l’

O000°A” 0 ASCIIO000N0N0OODODODOD 41000 4x16+1=650000"m’
O0O000oboo0O edd0OO0 6x16413=109000000000 2
gooboooo

—20100000 0OO0O0 Ml (00:00) 68—

d e  f 00000 100000000
) P} 7/)
s asr s
VRS ERNNETF
J]) )~ J_J
‘m’ ‘n’ ’o0’
3 17 del

gdoboboogobobodgoxgonon
gogobooooooo
0x41 =65

O ASCIIOOOO

goo0o0gboodn del bOOd



oboooobo o031l oboboboboooboob0oboDoobooObobooDoobOoo
0000000000 (D00000)0000000ooo128000000000000O0OO0ODOOOO

0000000 (ASCII code) OO0

gogobobooooboboooobon:
0x08: 0 O (BS=BackSpace)

0x09: 0000 (HT=HorizontalTab)
0x0A: 000000 (LF=LineFeed)

a2= 7 | 3321 | 3a— v | 35=rw’ | 368’ | 37=% | 38='% 392777 0x0D: 00000 (CR=CarrigeReturn)
40="(’ 41=2)’ 42="x%" 43="+’ 44=> ? 45=>-" 46="." 47=2/’ 1000 1byte=8bit 0000000
48="0’ 49="1" 50="2" 51="3° 52="4> 53=’"5" 54="6" 56="7" 00 00127 000 7hit 000000
56="8" 57="9’ 58=’:" 59=" " 60="<" 61="="’ 62=">"’ 63="7’ 00000000000 00000000
64="0’ 65="A" 66="B"’ 67="C’ 68="D’ 69="E’ 70="F’ 71="G’ 0000 bitO 00000000000
72="H’ 73="1" 74="7J’ 75="K’ 76="L" Tr="M’ 78="N"’ 79="0’ Oo0oon

80="P’ 81="Q’ 82="R’ 83=’8’ 84="T" 85="17" 86="V’ 87="W’ O00000000000000000
88="X"’ 89="Y’ 90="2" 91="[" 92="\" 93="]" 94=""" 9=’ _ 0000000 1bitOOOOOO0000
96=" ¢ 97="a’ 98="b’ 99="¢’ 100="4d’ | 101=’e’ | 102="£" 103="g’ 0128 000000000000000
104=>h’ | 105="1’ | 106="j’ | 107="k’ | 108="1’ | 109="m’ | 110="n’ | 111=’0’ 000000000000000000
112="p’ | 113="q’ | 114="1’ | 116="s’ | 116="¢> | 117="w’ | 118="v’ | 119="w’ Slatsiatalalatalataiatatals

120="x’ | 121=’y’> | 122="z’> | 123="{’ | 124="|> | 125="}> | 126=""’ | 127=(del) 00000 bitD 0000000000
[32-63] ! "#$% &> ()*x+,-./0123466789:;<=>7 oDooooooo bithD 1000000
[64- 951 e ABCDEFGHIJKLMNOPQRSTUVWXYZ[\]"_ bobboddubooooootud
[ 96-127] “abcdefghijklmnopgqrstuvwxyzd{l 3}~ (del) bobboobobbooooodoogn

ugbooboooooobbbooooon
O .printf 000000000O00DO00O0O0NODMOOOODOOOOOOOOODOOOOOOOOOO0 0000000000000 O00000

0000000000 °\o’ 0000000000000 000OASCIIODOOODOOO 0x0A (=10) O 0000000000000 O00000
Hot gdbboboooooooobbooooon
000000000 (o0Dooooo)
gooboooooobooooooon
gobbbooooobboboooon

ugobobooogoooboao

—20100000 0000l (00:00) 69—



00 16.1. 0000 10000000 (°0’0’9’)00000000O0OOOOOOOOOOOOOOO

ooond
/* ctoi.c  2010-07-05 x/
#include <stdio.h>

int main(int argc, char** argv)
{
char c;

int i;

printf("decimal digit? ");

scanf ("%c", &c);

if( ¢ >= 70’ && c <= 9’ )

{
i=c-"70;
printf("’J%c’ is a decimal digit with value %d.\n",c,i);
}
else
{

printf("’Yc’ is not a decimal digit.\n", c);
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char str[15] = "This is a pen.";
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/* bof.c : buffer overflow sample */
#include <stdio.h>

#define MAXLEN 10
int main(int argc, char** argv)
{

unsigned int x=1;

char str[MAXLEN]="sample...";

printf("x: %p, %d, %x\n", &x, x, x);
printf("s: %p, %s\n", str, str);

scanf ("%s",str);

printf("x: %p, %d, %x\n", &x, x, x);

printf("s: %p, %s\n", str, str);

/* bofsafe.c : buffer overflow safety */
#include <stdio.h>

#define MAXLEN 10

int main(int argc, charx* argv)
{
unsigned int x=1;
char str[MAXLEN]="sample...";

printf("x: %p, %d, %x\n", &x, x, x);
printf("s: %p, %s\n", str, str);

fgets(str, MAXLEN, stdin);

printf ("x: %p, %d, %x\n", &x, x, x);
printf("s: %p, %s\n", str, str);
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